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IBPS / BANK / LIC ADO 2023
Eight persons lives 1n a building having four
floors where ground floor 1s numbered as 1, the
floor just above 1t 1s numbered as 2 and so on
till the topmost floor which is numbered as 4.
Each floor 1s having two flats 1.e., Flat-A and
flat-B. Flat-A of floor-2 is exactly above the
flat-A of floor-1 and exactly below the flat-A of
floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is
there between P and J. P and J lives on different
flats. M lives exactly towards the east of N. R
lives immediately below N. R and N lives on
same flat. D lives above O and below K. K lives
on flat-A.

at 9:00 AM
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IBPS / BANK / LIC ADO 2023
Eight persons lives in a building having four

floors where ground floor 1s numbered as 1, the %

floor just above 1t 1s numbered as 2 and so on
till the topmost floor which 1s numbered as 4.
Each floor 1s having two flats 1.e., Flat-A and
flat-B. Flat-A of floor-2 1s exactly above the
flat-A of floor-1 and exactly below the flat-A of
floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap 1s
there between P and J. P and J lives on different
flats. M lives exactly towards the east of N. R
lives immediately below N. R and N lives on
same flat. D lives above O and below K. K lives

on flat-A. 'E |
O N|{—> M
R
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IBPS / BANK / LIC ADO 2023
$Sn19JPOKSVOM3D %

Which of the following is the ninth to the left of the seventh element

—
T

from the right end of the above arrangement?

yw-mwﬁﬁwﬁmﬁwﬁw A oh ST AT 82
1 Q) w 3)$ 4) © (5)9

L- L R+ L
R-R L+

1@
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he7rZw@u&qS418nl19JPOKSVOMID %

[~

If all the numbers are dropped from the above arrangement then

which of the following is thirteenth from the right end?
I IUTH STTEAT U THT TEITST <kl BT {21 I a1 4 § | Shid-a1 =™
¥ AT N2

1)V @Du n D& %q/
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he7rZw@u&iqS4ISn19JPOKS5VOM3D %

[~

How many such letters are there in the above arrangement each of which
is immediately preceded by a consonant and immediately followed by a

number?

IUXIR SAIEYT W U feha 31eR 2 fw & Tedeh o i Ugel Ueh sieie oiR
T TG Teh HEAT 82

(1) None 2)One  (3) Two @ (5) Four
-~ _ _
) e
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he7rZw@u& qS4I1$Sn19JPOKSVOM3ID %

NEVAN N

What should come next in the following series based on the above

[~

arrangement?

IUNITh SITEYT o HTEIR W AR HEEAT H STTEAT UE FT AT AT80?

m N

cZu, @qi, 4nj, (?) .

b ) ep) ) o
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hc7rZw\@/8__8qu4I$nl9JPOK5VE©/7§ %

How many such numbers are there in the above arrangement each of

which is immediately preceded by a symbol but ngl{mmediatelz followed

by a consonant? ad; AY <@
ST STTEAT | THT fehaT Heam &, 1 & uedes & 9% 98l Uk
TcTeh 8, TTieh q{d a18 Ueh ST a1 82

(1) One @ 3) Three (4) None  (5) Five
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c
Statement- B = F > K > J > §

Conclusion - (I) Q =B <
IHF>Q —

(1) If only conclusion I is true.

at 9:00 AM

[~

(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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Statement- H < K> N< M =C
o2
Conclusion - (I) C> N \/

(I) H>M OL

(1) If only conclusion I is true.

[~

(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.



IBPS / BANK / LIC ADO 2023 at 9:00 AM

=
Statement- lg\?Q >S<T>L

Conclusion - (I) P > LL V&
dnT>P

(1) If only conclusion I is true.

[~

(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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i \
statement- . = W > X <Y <K

Conclusion - (I) /> X //

(1) K > X

(1) If only conclusion I is true.

[~

(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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statement- F < S <B=Y > Z
Conclusion- (1) Y > H )<

MY<H /

(1) If only conclusion I is true.

[~

(2) If only conclusion II is true.
(3) If either conclusion I or Il is true.
(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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In a Certain code BALL is written as 8 , than find the code

for YELL ? .\ ; =) % 8
wﬁfmaﬁgﬁB/@L Wﬂﬁ@S%ﬁngﬁ IgE\)LLsm

hIS T BT 2 (Voo
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In a Certain code WATSON is written as 371639 , than find the

code for MASTER ?
U Tt e § WATSON w1 hiE 371639 e man e, @

MASTER T &S T T ?

(3).534293—
(4)313233— 37 16 231

—:ES’){ﬁone of these




D
C
‘ECONO

MICSC[S NOT MONEY’ is called ‘15A, 14V 23U 19U°
‘CAN BANKING FOR WORD’ is called ‘5F, 22T, 25P, 260’

‘MAKE CLEAR NOT CENTRE’ is called ‘15G, 25T, 25G, 14V’ cLASS

‘OK FEW TARGETS IN’ is called ‘19P, 8U, 13M, 22Y’

What is the code of MASTER. T ehig =T &2 -

03.23U
04.19U
04. None of these
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Statements :

A few figures are images.

0% snaps are images.

Conclusions :
I. Some figures are not snaps.

I1. All images being snaps is a
possibility.

at 9:00 AM

h
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Statements :

A few figures are images.

0% snaps are images.

Conclusions : /
I. Some figures are not snaps

I1. All images being snaps is a
possibility. ><

at 9:00 AM

AW
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Statements : HUA:
Only fantastic are fans. e ISR U9k 2l -
. CIIS
No fans are fabulous. aﬁé U398k ITHER 81 3

Conclusions :
I. No fantastic being fabulous
is a possibility.

I1. Some fabulous are
fantastic.

ToRET IMTER o IMTHER B4 <kl THTaET
&l B
B ISR ISR )
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Statements :

Only fantastic are fans.

No fans are fabulous.

Conclusions :

I. No fantastic being fabulous is a
possibility.

I1. Some fabulous are fantastiy@

at 9:00 AM
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Statements :

All toys are tasks.

No task is a tree.

Conclusions :
I. No tree is a task.

I1. A few tasks are toys.

at 9:00 AM

hqA:
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Statements :

All toys are tasks.

No task is a tree.
Conclusions :
I. No tree is a task. \/

II. A few tasks are toys/

at 9:00 AM
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Statements :

A few wheels are warm.

Only wheels are wools.

Conclusions :
I. Some wheels are wools.

I1. All wools are warm.

at 9:00 AM

<h 2
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Statements :

A few wheels are warm.

Only wheels are wools.

Conclusions :

I. Some wheels are wools. /
I1. All wools are warm. m

adl

(=D

at 9:00 AM

O



IBPS / BANK / LIC ADO 2023 OWYi= at 9:00 AM

Input: 17 18 16 15 19 - e
Step I 15 16 14 13 17 19 @ .
Step Il 19 20 18 17 21 23

Step III 8 9 7 6 10 12 —“

Step IV: 34 36 32 30 38 42 (impar X7)
Step V: 324 361 289 256 400 484

‘ l / [ ) ((ﬂr\ Uj—\’l)l
€ SO R VR P ‘L% I
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There are eight employees 1.e. A, B, C, D, E, F, G and H who work 1n different companies of a
building which has eight floor. All the companies is on different floor of the building. First floor 1s
grounded and eight floor 1s top most floor. H does not work on odd numbered floor. E works on odd
numbered floor but above the floor on which F works. There are 3 floor between the floor on which
F works and C works. C works below F who works on odd numbered floor. A works just immediate
above the floor on which H works. B works on above the floor on which D works but not on Top

most floor.

33 U= 314fd A, B, C, D, E, F, G 9 H U faifegm &t fafir= svrafat o & hea €, forem o1me o
2| oft srra et forfee o fafi aa W feura 21 o 9eer aa & a1 MY o1 a 318t ad <l H, et
foram Tt 9T 9T W T T =) E, I ST 9T 9l U ShH AT ©, Afchd 39 ad ¥ ST 519
T F %19 (T 2| F 37T C IS 9t I 10 ohtd & 31k 987 3 d 21 C, F o <1< shig shdr 2, Sl fomg
HEAT T dcT UL ShTH AT &l A 39 9o o 3ieh ST 9T dcd L hiH hidT &, IS8 W H 9 | T gl B
39 d oh ST HTH hidl & IS8 9T D 19 LT 8, Afeh Y et IX hiH &1 LT 2l
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There are eight employees 1.e. A, B, C, D,

E, F, G and H who work 1n different
companies of a building which has eight
floor. All the companies 1s on different floor
of the building. First floor is grounded and

eight floor 1s top most floor. H does not

work on odd numbered floor. E works on
odd numbered floor but above the floor on
which F works. There are 3 floor between

Sk e
the floor on which F works and C works. C

“works belo F who Works on odd

numbered floor. A works just immediate
—_— LN

above the floor on which H works( B Jvorks

on above the floor on which D Work@

not on Top most floor.

g

at 9:00 AM
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IBPS / BANK / LIC ADO 2023 at 9:00 AM
Eight persons M, N, O, V, W, X, Y and Z attend Meetings on different months of the year viz.

January, February, March and April, such that not more than two persons attend their Meetings in

cach of the months. Meetings can be held on either 10th or 11th day of the month. No two
Meetings can be held on the same day. W attend meeting in a month which has less than 30 days.
Only one person attend meeting between W and Z. O attends meeting in March. M attend meeting
on even day of a month having 30 days. Equal Number of meeting are between Z and X as there

between Z and V. Y attend meeting immediate before X.

38 AR AT M, N, O, V, W, X, Y AR Z &, STl I8 o STeh1-THT HeHI AT SHal, BLad, A=
3T A § e HIfTT H 36 Toh 9T i @ foh Tedeh I | 21 § AfIeh uixh Hifdm & v 7 &d &
fiféT g AT A ar 109 31 119 T 9 2 wendt 21 gae foT way fifd 78 2 gt 8| W ST e |
M § T oiar 2, IS98 30 8 o7H T 81 81 W 3T Z o Sfi=T shaiel Ueh SAf<h HifdT | 9T dAdr =1 O,
A | HifEr e Aar 21 M, 30 A7 a1 7 h gw foq s difen & yrrdar )1 Z ik X A= el
AT HfT hl ST, 7 3R V o S 8 1l §ife Al 63t o SR 21 'Y, X o 3ich U HifdT § 9T

AdT =l
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at 9:00 AM

Eight persons M, N, O, V, W, X, Y and Z L_%

attend Meetings on different months of the |0 y \

year viz. January, February, March and April, Jom ¥ X \

such that not more than two persons attend — [

their Meetings in each of the months. @F e b L | W %—‘
Meetings can be held on either 10th or 11th Q / ) N |

day of the month. No two Meetings can be M an d\ 10| 2 C\
held on the same day. W attend meeting in a WO |2
month which has less than 30 days. Only one

person attend meeting between W and Z. O 0 P\ FM | i M L
attends meeting in March. M attend meeting "W \/ V

on even day of a month having 30 days.

Equal Number of meeting are between Z and

X as Elere between Z and V. Y attend Il ¥ — —— k/

meeting immediate before X.
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Eight persons A, B, C, D, E, G, H and K sit in @and face north (but not necessarily in the

same order). All the persons work 1n a company on different designations viz. MD, CMD, CEO, Senior

executive, Executive, Manager, Associate Manager and HR. Two persons sit between B and the one

who isC\EO. G who 1s HR sits third to the right of CEO. K 1is one of the immediate neighbors of HR.
The one who is Executive only sits exactly between K and the one who is CEO. D sits third to the left of
the one who 1s Executive. D sits adjacent to A who 1s not CEO. Same number of persons sit to the left
of A and right of the one who 1s Manager. C and the one who 1s Senior executive are immediate
neighbors. Three persons sit between H and the one who 1s MD. D 1s not Associate Manager.

A3 =AH A, B, C, D, E, G, H 3 K T g Ufth H dad & 3R I 6l 3T IHW & (ifoh STt 21 foh
31 51 1 B1)| it Afxh Uk et | AHT-3THT Ue U h1H ohid & oie| THET, Hiuget, eigett, ais e,
FRIEH, TeiEieh, THIHUE BT 3 TAR) B 3N gl & o9 2 Afth 98 31 G S TR ®, Higel o e
T T W AST 2| K, HR % Hehead ISifem § & Ueh B I8 itk S HEishRT ©, hael K 3T Higetl o
3leh HEg H <137 | D 3 Alth o a1 § 18 T G SI3T § ST Rk 8l D, A o Here a1 2 St €igel 7=
A o ST SR A o SR AR U AT H ATtk o8 81 C AR 98 ST IRy wriehr] 2 fHehedd ueidt &) i
fth H 3R THE! o o9 &3 &l D TEITaUE B =l 2
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S Eight persons A, B, C, D, E, G, H and K sit in a linear row and face north (but not necessarily in the

same order). All the persons work in a company on different designations viz. MD, CMD, CEQO,

Senior executive, Executive, Manager, Associate Manager and HR. Two persons sit between B and
the one who 1s CEO. G who 1s HR sits third to the right of CEO. K is one of the immediate
neighbors of HR. The one who 1s Executive sits exactly between K and the one who 1s CEO. D sits
third to the left of the one who 1s Executive. D sits adjacent to A who 1s not CEO. Same number of
persons sit to the left of A and right of the one who 1s Manager. C and the one who 1s Senior
executive are immediate neighbors. Three persons sit between H and the one who 1s MD. D i1s not

Associate Manager.

| e—
e

» DA C H G6 E

/ mp  Sp CEO e%fe ) g AM
a ?\’\ngb\
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& ight people are sitting in two parallel rows containing four people in each row, in such a

way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are
seated (but not necessarily in the same order) and all of them are facing North. In row-2
E, F, G and H are seated (but not necessarily in the same order) and all of them are

facing South. Therefore, in the given seating arrangement each member seated in a row
faces another member of the other row. D faces the person who sits 2nd to the left of E. G
doesn't face A who is an immediate neighbour of D. There is one person sits between G
and H. B sits to the immediate right of the person who faces E.

313 ATk &1 GHTHIAT UThdl H Tcdeh Ulith H IR ST shl 39 Joh oS & foh AT8— Afhal o st
Ha gl 1 dfth-1 H A, B, C 3R D §I3 € (cfeh Siedt 721 Toh 36t 567 H BT 3 3T @il ol 7 ST
I AL RN UfF-2 HE, F, G 3R H oS & (e Sl 187 Toh T 360 H 1) 3T I wfl 1 7@ gfaqor
ol A &) AT, & 178 ST hl sHaeT H Toh Uith H IS Wcdsh FeE ol 46 g8l vfh o forelt 31
HEE ol SN 2| D ol T I Afth ol SR L ST E o S 8 GO T T SST 81 G 1 H@ A % 3T
T81 8, ST D o1 (Hohedd U2l 21 G 3T H o A& Ueh i<h 937 81 B 39 Af<h o 3ich & 93l &
ST 7@ E T 3T 2
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Eight people are sitting in two parallel rows containing four people in each row, in such a
way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are

(-~

seated (but not necessarily in the same order) and all of them are facing North. In row-2
E, F, G and H are seated (but not necessarily in the same order) and all of them are
facing South. Therefore, in the given seating arrangement each member seated in a row
faces another member of the other row. D faces the person who sits 2nd to the left of E. G
doesn't face A who is an immediate neighbour of D. There is one person sits between G
and H. B sits to the immediate right of the person who faces E.

BA VK 0 PM
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